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QUESTION 1

An audit of a customer\\'s private cloud has found that in the event of an outage the customer would not be able to
recover virtual machines quickly enough as determined by their recovery time objective( RTO). They do not have the
budget to invest in building a separate recovery site.

A. Site Recovery Manager

B. vCloud Connector

C. vCloud Air - Disaster Recovery

D. vRealize Automation

Correct Answer: D

QUESTION 2

An administrator wants to more proactively react to alarms in the datacenter.Which vRealize operations availability
feature would be most helpful in identifying problems before they impact end users?

A. Dynamic Thresholds
B. Dynamic Alerts

C. Smart Alerts

D. Self-Adjusting Alerts

Correct Answer: B

QUESTION 3

A company has a multi-tier application and needs a deployment solution that will take into account CPU and memory
requirements, while ensuring that the security of each workload can be protected using dynamic firewalls.Which two
products will meet the company\\'s needs? (Choose two.)

A. vSphere Replication

B. vRealize Automation

C. vRealize Operations

D. VMware NSX

Correct Answer: BD

QUESTION 4
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An administrator has a virtual machine with large amounts of data and wishes to protect it by replicating the data using
the VMware Air disaster recovery service. A large amount of data would initially have to be transferred across the
network before beginning replication. Which feature can the administrator utilize to minimize the amount of data
transferred before beginning replication?

A. vCenter Operations Manager

B. Direct Connect

C. vCloud Connector: Data Migration Service

D. vCloudConnector: Offline Data Transfer

Correct Answer: C

QUESTION 5

An administrator wants to make sure that a cloud environment is performing as expected and is not exhibiting any
serious problems.Which vRealize operations super Metric will help analyze workload anomalies and faults?

A. Risk

B. Status

C. Performance
D. Health

Correct Answer: C
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